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6 A proposal to counteract low turnout by voters in elections is to introduce the option of
voting via the Internet. There are a number of practical issues (such as loss of secrecy, fear
of abuse of the system) which mean the proposal would have to be carefully controlled. It
may be undemocratic by favouring some political parties more than others. Those parties
whose voters tend to be young and better educated would be likely to gain more votes than
others.

Which of one the following best expresses the main conclusion of the argument?

A Low turnout by voters is endangering our democracy.

B Voting via the Internet risks loss of secrecy in voting.

C  Some political parties object to the Internet voting proposal.

D Internet voting would unfairly discriminate against some sections of society.
E  Internet voting would have to be carefully controlled.
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15 The use of animals for experiments for medical research has been criticised by many animal
rights campaigners as morally wrong. Some campaigners use extreme tactics to gain public
attention. But they 1gnore the many benefits which advances in medicine have for animals
themselves. The development of antibiotics, for example. has helped animals as well as
humans. If the animal population as a whole derives benefit from experiments on only a
small minority of amimals. those experiments are morally acceptable.

Which of the following expresses the conclusion of the above passage?

A Animal rights are less important than human rights.

B Animals benefit from the results of experimentation.

C  There 1s clear moral justification for all animal experiments.

D  Only those animal experiments that benefit animals as well as humans are acceptable.
E  The use of animals for experiments in non-medical research 1s morally wrong.
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17  The worst of what ensued when the Exxon Valdez spilled 40.000 tons of crude oil into
Alaska’s coastal waters in 1989 is not that it was the most damaging oil spill in history but
that it isn’t yet history. Despite the intense research on the ecosystem. this 10.000-square-
mile tapestry of icefields. mountains, forests and sea is far from recovered. Lingering and
unanticipated injuries abound. A 2001 study found more than 100 tons of toxic oil
remaining on dozens of the beaches. oil that seeps out with every tide. and that — because
incomplete weathering left behind higher concentrations of toxins — is even more poisonous
now than when it gushed from the ripped tanker. This oil will remain on these beaches for

decades to come.
[Adapted from: The Lingering Lessons of the EV. by Marybeth Holleman. Ecologist: May 2004. p 12]

Which of the following most closely identifies the main conclusion of the argument?

A The worst aspect of the Exxon Valdez oil spill is that its consequences are not yet
played out.

B Despite the research on the coastal ecosystem. the affected environment has not
returned to normal.

C  Much of the damage caused by the Exxon Valdez oil spill was due to the particular
nature of the coastal line.

D  The harmful effects of the oil are greater now than they were when the Exxon Valdez
spilled its cargo.

E There will be o1l on Alaska’s beaches decades from now.
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19 Increases in blood pressure associated with old age are endemic in developed countries. but
are rarely seen in underdeveloped countries where people tend to maintain a high level of
physical activity throughout their lives. At the other end of the age-range. obesity and
diabetes are more common among young people in developed countries, where largely
sedentary lifestyles give limited opportunity for exercise.

Which one of the following can be drawn as a conclusion from the passage above?

A Further gains in longevity in developed countries will not be achievable without a
change in lifestyle.

People who do not take sufficient exercise will suffer from obesity and diabetes.
People gain no benefit from physical activity unless it continues into old age.

Lifelong exercise is associated with maintaining good health.

s o 6 W

Young people are more affected by lack of exercise than old people.
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